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Q24) (a) Tank B

(b) Tank B is most likely to have a living thing as the number of things

gets larger and larger as living things reproduce.

Q25) 

Q26) 

(a) Mammals

(b) Animal Y has hair

(c) Reptile. It is because reptiles have dry scales and animal Z also has

dry scales.

(a) A: plants

I 

(b) 

A 

grass 
papaya tree 

fern 

B: fungi 
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027) 

028) 

029) 

030) 

031) 

032) 

033) 

034) 

Function 

Allows the exchange of 
gases Jo take place. 

carries food, water and 
oxygen to various parts of 

the body. 

Suppo!ls the body and 
9lves it shape. 

Helps different parts of 
\he body to move. 

Human Body Syst�m 

x i 

circulato,y system 

. . . 

respfrato,y system 

X� ....;._, 
I

skeletal system 

(a) Organ system A: muscular
Organ System B : circulatory

(b) Circulatory

(a) Mouth : Part D
Small Intestine : Part C

(b) Circulatory system

(a) (i) mouth (ii) gullet (iii) stomach (iv) large intestine
(b) The mouth. The pair of scissors cuts paper into smaller strips just

like the teeth in the mouth that chews on food to turn it into smaller
pieces.

(a) Plant O bears flowers
(b) Plant O bears flower but plant P does not bear flowers
(c) Plant Q and Plant R bear flowers.

(a) Part P : leaf Part O: stem 
(b) The wooden stick helps the plant by supporting it.
(c) The seeds are found in part R, the seed can help the plant in

reproduction.

(a) She was testing the flexibility of the material.
(b) Y because it is not flexible. While Y is still, Xis not. Y did not bend

compared to X when a weight is added.

(a) Put the iron nail near to some iron clips and observe whether it
attracts any iron clips.

(b) (i) He can coil the wire more times on the iron nai
(ii) He can use more dry cell batteries

(c) unlike
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